IO.Z{' 2. Tlone %vwr)\[« ('0,2,"37, nomad o ,‘C"("f,'(,‘?)-
T Ha s QWHOV\ (/C-f_‘,')»ﬁzo.
(x-0)-4 + (y-2)(-0) + (2 -(-)(-D =0
& x —(34»2_9\2’6-"0
b x —‘3"22 el
Clre ek : k(o) -2-2(-3)= ~2+6=4

¥ N -//’/wouak (1,2 3) /)o/al@@( +o
Ik+y - 22=1S. Both plama hove Fthe Sanye
V\(Mmj vechor n =031 -2). Compprke tne

Lw Con Sk ok ! 3ole -2 +(-2)y3=—(.

EW‘OA (s 3&*(8—22:"‘.

6. Theowh  points  (-2,00), (0, 30),(00,4).
E_.Wu Flaase //)o-_‘_v_\;lrs A B C. Tz~
/\Bf'(zlgé,o)’ «AC:(ZMO,L*)- Nomwal vector

n= AExAC= |t 4 k| (D -§(s)-bk(-6)

T 0

o 4

?(avxa [/\0~A QW}HOK (Zx*ga'éi’;D.
g\/\jogh“hdhe OVla of tlu /)05"\4‘9 to gﬂ/f' D
(2(-2Y = ¥(o0) - (0) = D = —24,

p

SRS

[2 x "Sar 6Ez=-2¢%

C/{A.QOL( OW Hvo ,ﬂonh .,O\e Oin /(QV\Q :
\2(0) _8(§) '6(0): - 2L
(2(c) - g(0 -6(y) = -24 —



9. Plone thvovgh Lo debnd by fng b
\Q((‘/AM‘-‘OM X*g:,ﬁ, L\.j—%:g o awd Wwa&w(w
o e /)favxa 2x+28+4}:3.
First  fmd o /)&‘vaw\a/fv»'c Aesen phion oA fto  Line.
Lk x=t, Hew 3=7~'t, 2e=y-3=-i-t.
Line s porammgine  desernphon (xq,2)= (0,2,-1) 20, 4,1
Posses  Hvoushe  (0,2,-1) i clvechon (1, -1,-1)
Pevpn disetlar o Lx « 3yc k2 =S inplier  our

/)fm,\g UsSk covhoiin e novm~al  vector
n=(2,%4).

So Mu  non~al  vechor of  Our  ew /)lawe ) S
mz (- =)= (2,3 4)= | ¢ gk =) qbus

{ ol ~

g 304
ECV\/\A;HO»-\ 'S - X - 6(3* Sz =D ) gw(orhw (0}2(~/).

.,O__Q(g)«— S(-)=D = -i7
= '—K_6a1§%='l7.
Clhact: = £-6(a-9)«S(-1-4)= 0t -7 v > ronfainy Lie.

nem= (25,0:(1,-6,5)= -21%+20- 0 plped porcicly.

5. Line Powougle (1 2,3) ) porctlel fo (2,-3,74),
,‘C:(’(:"JVZ): (1,2,3) + €(2,-3,-4) , teR,
K= [+2+ | Y= 23t 2 =3%3-4t Lem

€= x-1l . g=* . z-3
2



(6. (/w\f. -Wvo%k [~{,o,;)7 W&(/«W fo 21—3««73:&.
n=(2,-1,7) s Hae  live chom eehor ot Fle Line,

Vo= (o) + (2, -,7) EerR
= mu o+l Zh'-t&«ng
X = ~=(+2¢ 8:—{) 2 = |+ 7¢
‘- X +| = =
R

l’? . (e harowj L Ow‘cfw\, /)pm,w i) (nFeviectrom ot
X+ 2y-2= 2 oA Ax -y «bz:=S.
3 )
F\V\Q( &Mahm\ v o lbﬂ (/n)cr}/ymaéaul— cyﬂ (/»o;/w\d[ veedors !

vl L j b L) gle)eL(-5)
I 2 -l
7S R
v = %(7) —6,-3) %Eﬁz
= 71‘,’(&"6&,}-?{& t €
X = T+ 8: -6t %'—Yt
t = )(/ = = £ :
T =6 =)

[&}f__ [3. "Gw)‘ewf ,ob\wz & ol Line W}\ of

'ﬁfxtj)— 4 *U ak (-2.1). f{(- 2;) -3
95, = 2x, OF 5 =0y, = 9} (2= -4, D{L (~2.)= =2.

ox % s b
+0V\‘Wr(?“v\zi 2= 3+ (~4)(x-(-D) f+(-z)(3—r)
=3 -Ux-% -2y 2 = -4x-ly ~3.

rommal e x = (=2, 1,3) « k(-4 -2.-1) | LeR.



6 Fleyg): & aF (1), fti)=o.
s

9@ = |.__(x‘j) - (i-j)'l -

-

S ANDISES

p 6(_-( (j>a. (X*UPL X
_E_Ef(*‘)(xﬂj)-gxﬂj)'\ = -*Zx} = 9}((,,); = "’(Q'
% &y Gry) s X

Tongur  plane: 2= O+’,(x-)_;z(6,,,)
novwad  Line e

"

"
[
O
4+
A+
~
"‘\

{
~—

f

S B = s () ek (md). Fu = @) T
9‘C '-/ SM( / = QF (n 4) = —/ 9n(7ff)~ ~1
/DX ,, %> 39( } zﬁﬁ_
oL = + x sm( XY l) (7, Lf) T Sin( 7
/ el (/ 'f)
- ) 5 i
+ e 2= 4 — _L{ )+ 7‘7( k
rogpedplne e m i §=4),
nomad Line:f v = (T, & l/) + (- L -r) teR.
~ 1 %’Wi’ ’
\ X



s

“i-ff_ L D= {x%«j”azﬂ "-{[v,e']‘-o_fvsa, 0co-<2m |
( Coprar- (@ | =
D o N |

rtos+ o

= y*
&6’ R s ‘/ o
A
2. (g ;(,lty)", dA = g?ff g v rde dS = '/ ag'?,ﬂ' = 2ma’ |
D Ty o ) : 3
r
e[ 1ldA . W S= { (] 04 <o, o7, o]
I
-
Own S, Ixl= oy % 'S ()_os{'h‘va.

The and'N,Q o Ixl v Hne (et Lol of D
CV\AQLJ o [WM e el over tle bk LolF S

€
L)g. ?lﬂfvwbv\M’Y\a
I=2§§MM=2J S reos® v do LB~
0
L.

N\

a iC
_Q@_:_ = _9/3 0L3 STYTG’ _
(% z 3

= Zg R

3 - %iaq'lz Yol .




5 { ¥ 720, ‘j/O s Al//}@z

= QCV)81 . Ofrfa’ O(e—(-;t/
T a.

[ grans [™ (e ornmer o aor

Q o —

. 7,
= //Bc(?.CsmS'—oos&]o = '%al(l—o~(oh,)>: 245“3

1. Sg YA - 8

Q

EL,k_r ‘ u : A 4
[ lf D()f,j) - _’_ = l 9(»01) - ]2_!)_ i
d (v 2V 2 (o) V[ a2y

Simel Vs

MNO@% '/)OV.W on S



=Ly %Wbp.& rebabed
L.” 7t7’-( racbioay, |
P ‘j"° DN yx D x>t S ir

[ vherre M X —anAS ok x= I,

Uu= x —:j; Y= Xa-




